4p.

L

Corrigé

( 8 points )

e14x _4el3xe~xx + 6612x6—12x _4exxe—13x +e

—i4x

ix _  -ix 4
D f(x){e 2ie J - 16

4 p.

;

. (cos 4x — 4cos2x +3)

O+ O oo

=—cos4x—lcos2x+—
-2 8

2) VxeR: F(x)=isin4x—lsin2x+§x+c, ceR
32 4 8

F(E)z——l— = 0——1-+—3—7E+c=-—1— = c:—3—7t

4 4 4 32 4 32

Donc : F(x)=lsin4x—lsin2x+§x—-3§
8 4 8 32

. (12points)

1) voir cours.

) la|m T2 5 [2|=/TT 408 5 [alefar|<lelz]24Be88

= 6=}argz=-5(—;E ( mod 27t) ..

cos@=—£ et sin6=l
2 2
b
N

argu =arg(zz')=argz+argz’=§6£+(—%)=Z—;E (mod 21)

vcose’——ﬂ—*‘—l—- et sine’————4
42 2 42

= 9’=argz'=—£— (mod 27)

L. (8 points)

(2 -30)2(-4+5i+2+50) (4+12i—9)(-2 +100)
1) z= — - —2
51 Si

(=5 +12i)- 5(—% +2i)- ()

2p.

5i- (—i)

- (-Z- _10i - 6i - 24)(-i)

— 16+ 8¢
2




(4p.)

(2p.)

16 p.

. -%—5i+2+3i %—21 %(1-40 |
2 = = = - ——
) ) TR T T4rsit2ea —248 -20-4) 4

Comme (A_é, _A—(i) = arg(-g———aj = arg(- %) =n (mod 27 ), les points A, B et C sont alignés.
-a

b) AOBD est un parallélogramme < AO=DB < 0-a=b-d < d=b+a=-6+2i
Donc : D(-6 + 2i)

4 p.

4p.

IV. (8 points)
1) VxeR: f'(x)=e*cosx +e*(-sinx)=¢e" (cosx —sinx)
f"(x) =e* (cos x —sin x) + e* (~sin x — cos x) = —2e* sin x

vxeR: %f”(x)+f(x)=—ex sinx +e* cosx =e* (cosx —sinx) =f'(x)

2) VxeR: f’(x)=—;—f”(x)+f(x) = f(x)=f’(x)—%f”(x)

' 72 /2
Donc : 1= Oj £(x)dx = j (f’(x)—%f’(x))dx

0
n/2

1.,
—[f(x)——z—f (x)]o
_tS-Le® oy Ly
—f(2) 2f(2)‘ f(0)+2f(0)

'=O—l-( "/2) e +;e°

1 22 :
=——t—€ ~1,91
S ( 1) |

3p

(6p.)

V. (8 points) ——

1) voir cours.

X
2) ‘v’xe]——-—-[ Gx)= J.tantdt— J‘Slo—r;idt [—ln[cost[] =——ln]cosx[+ln-12-
/3 n/3: .

VI. (7 points)

u(t)—lnt = u (t)—

¢ -tn+l € el ¢+l
VneN: In=It"lntdt Int —f;- dt
1

=]

+

—
‘:I
s
=

Vi) =t" = v(t)-—f. "
‘ n

r [ [
— n+l lnt:I I I: 1 tn~!~l}
n+ 1 n+1 n+l 1




n+l _ en+l +1

_ (n+1e
(n+1)?

1

_1+ne™
(n+1)?

1+9e!
J=1,=1 ;, K=l;= ~1982,39
0 9 700 ( )

VII. (9 points)

2 V2. 22 2

_. 21 ~
D B-255570), V===
) et Vi)
- 4 1 4 ~ 2 8 2 - - . .
la|==+=+==1; ||v||= — +—+-—=1; U et V sont unitaires.
9 9 9 36 9 36
ﬁ-\7=—z-(—£)+l-(—£)+(—z)-(—£)=2\/5—2\/5+ 2\/5=0 ; U et V sont orthogonaux.
3 6 3 3 3 6 18 9 18
Lz 2 2 2 4l 9h 2
3 6 3 3 18 9 18 2
—%-(———?)—(—7\?—)-(—%—)=0 * W=UAV,avec W(—%—%;O;{E)
2.2y 21 42 2 02 2
6’3 9 18 18 2 J

3 3

2) ||5”=~/1+0+16=\/ﬁ ; ﬁ-5:—%-(—1)+§-0+(—§)~4=5-§=—2

d-a=|-|a] cos(d,i) & -2=1-V17 cos(l,d) « %:cos(ﬁ,é) & (§,d)~119,02°
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